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201 er23 | 3,901 5,004 21,103
= 780
Al 3.121
01 At2teltl 3,901 5,004 1,108
Og=AA el 2SHI(MRES, B
g 7¢) 1,021
=S 204
Al 817
Ogzaddae] 82018 WsHI(129)
240,000 12 2,880
S 576
Al 2,304
307 elzto| & 10,000 10,000 0
= 2,000
Al 8,000
0122 € /=4 10,000 10,000 0
Og2AAB2| ADE TA(FLAE @ 10
) 10,000
< 2,000
Al 8,000
gEA L2 56,000 45,260 10,740
= 28,000
== 5,600
Al 22,400
101 e124d| 30,000 28,300 1,700
= 15,000
=S 3,000
Al 12,000
04 JIZtN2 2N S 2+ 30,000 28,300 1,700
OgEALCIAIY JIZHHZ22X E4(1E)
2,500,000« 1H« 122 30,000
= 15,000
= 3,000
Al 12,000
202 04| 16,000 16,000 0
= 8,000
= 1,600
Al 6,400
01 2L AL 16,000 16,000 0
OYEdaZ2eIME =0 16,000
[ 8,000
= 1,600
Al 6,400
307 @120l & 10,000 0 10,000
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Rl HEZAAE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 5,000
=S 1,000
Al 4,000
012z € 2=H] 10,000 0 10,000
OgEA LAY A2A2E 7 (A
| 2 38) 10,000
= 5,000
= 1,000
Al 4,000
Al loTD18 24l AZ22 ALY 237,888 333,004 N95,116
= 118,944
Al 118,944
101 @124H| 120,000 173,260 A53,260
s 60,000
Al 60,000
M IRINZZENSES 120,000 173,260 A\53,260
OAI 10T 0i2al AZ2elMBIA JIZEMZ2 2 At
2(49) 120,000
[ 60,000
Al 60,000
201 et 3| 67,888 89,744 N\21,856
[ 33,944
Al 33,944
01 At22t2ltl 64,888 83,744 18,856
OAIE Xt RH3H) 29,992
s 14,996
Al 14,996
OAIALIA & ASZ(1200t7) 33,936
[ 16,968
Al 16,968
O Eel=gl=H] 960
[ 480
Al 480
2 52434l 3,000 6,000 23,000
OHHESRC 2EY 223 S 3,000
= 1,500
Al 1,500
307 @12to| & 50,000 50,000 0
[ 25,000
Al 25,000
0122 & 3=l 50,000 50,000 0
OCIHI0IA(48) & 223 7 50,000
= 25,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 34,240
=S 6,848
Al 27,392
201 fer=3| 500 500 0
Jl 250
&< 50
Al 200
01 At 22|l 500 500 0
OZE= HH € AIREE 78 500
Il 250
== 50
Al 200
307 gl2to| & 67,980 67,980 0
Jl 33,990
= 6,798
Al 27,192
05 2I2tRIE S 67,980 67,980 0
OXISAS AL ZAHFZUE D 2AS) 67,980
) 33,990
< 6,798
Al 27,192
NS 2HAE 25Atell €= Sgds s 1,552 1,940 A388
Il 776
Al 776
201 er2&y| 1,562 1,940 N388
Jl 776
Al 776
01 AtR2t2|H] 1,552 1,940 A388
OXNSEHAY A 2= S2Ze U=
Bl 1,552
2l 776
Al 776
HLSEA 467,400 546,576 AT9,176
Jl 200,650
[ 59,330
Al 207,420
AL SHAG 2 (FLEHAAIY) 126,100 172,700 46,600
Il 63,050
== 12,610
Al 50,440
201 2= 3,900 12,300 28,400
Jl 1,950
= 390
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Rl ALSEALE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,560
01 AtR2t2|HI 3,400 11,400 28,000
OZLEdA USNE, USEEH S 3,400
Il 1,700
= 340
Al 1,360
02 S3=gHl 500 900 A400
OggEdA 4G 2H(Hees, 2 S) 500
Il 250
== 50
Al 200
202 048l 200 400 A200
Il 100
== 20
Al 80
01 =LHA LI 200 0 200
OZLdSdA AE F& bl 200
) 100
& 20
Al 80
307 el2tol & 122,000 160,000 38,000
) 61,000
< 12,200
Al 48,800
01292 & 3=H| 122,000 160,000 38,000
SEIAAE 7 (21408) 121,800
Jl 60,900
< 12,180
Al 48,720
O2A2B8ARE FYU(RIEAE &) 200
Jl 100
< 20
Al 80
ALETAG el (UL HSAMSEAHIA) 40,700 64,400 A23,700
Jl 20,350
== 4,070
Al 16,280
101 e124d| 27,500 27,830 A330
Jl 13,750
=S 2,750
Al 11,000
04 JIZtN2Z2XNSE+ 27,500 27,830 A330
OAZMATAIY JIZEHZ2Z2N B S 27,500
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 13,750
=S 2,750
Al 11,000
201 2= 10,180 33,670 A23,490
7l 5,090
= 1,018
Al 4,072
01 At 2|l 10,180 33,670 A23,490
OB & Z28 29 2,620
Jl 1,310
= 262
Al 1,048
OIIY(HTS)INER X2
1,260,000& x62 7,560
7l 3,780
= 756
Al 3,024
202 04| 200 400 A200
Jl 100
S 20
Al 80
01 2L AL 200 400 A200
OALMHEAMAIY JRFE 200
Il 100
== 20
Al 80
301 LEetE2 N = 1,500 500 1,000
Il 750
= 150
Al 600
14 DBt 2 a=S 1,500 0 1,500
OZJI2S At O+ QIHEIE KIS 1,500
) 750
S 150
Al 600
307 el2tol & 1,320 2,000 2680
) 660
& 132
Al 528
0192 & 3=l 1,320 2,000 2680
Ogg € SdIAHE A8 S 2 1,320
Jl 660
< 132
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| Al 528
AFSTAG 2el (28 LAAHA) 59,400 72,8%6 A13,456
Jl 29,700
= 5,940
Al 23,760
101 @1A4H| 55,000 55,640 2640
Jl 27,500
= 5,500
Al 22,000
MU IIRINZZENSES 55,000 55,640 2640
ORI AH ALY JIRZMZZ2R B=(2
&) 55,000
) 27,500
= 5,500
Al 22,000
301 LEtE N = 800 5,000 24,200
Jl 400
< 80
Al 320
14 IIEt2 83 800 5,000 A4,200
OR+=FHO0A & DIEFHA QHEIE HS 800
Jl 400
[ 80
Al 320
307 elzto| & 3,600 9,000 25,400
Jl 1,800
& 360
Al 1,440
0122 & 3=l 3,600 9,000 N5,400
ogsgi +d 60,0002 x60 3,600
Il 1,800
== 360
Al 1,440
d2g oAz XA 64,000 51,000 13,000
= 19,200
Al 44,800
201 er23| 15,400 10,500 4,900
= 4,620
Al 10,780
01 AtR2t2|HI 15,400 10,500 4,900
Oonzd 88 & 29 15,400
= 4,620
Al 10,780
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301 EtE NS 48,600 40,500 8,100
= 14,580
Al 34,020
14 DBt 2 a=S 48,600 40,500 8,100
Os2smaIY AALY
45,0002 +362] *300H A~ 48,600
=S 14,580
Al 34,020
KGNS sSHXE AHIA 175,100 182,840 AT,740
7l 87,550
= 17,510
Al 70,040
101 21AH| 65,280 65,000 280
Il 32,640
= 6,528
Al 26,112
04 JIZtNZ2 2N S+ 65,280 65,000 280
OErAIZE &= - OR2F S X3 21| &
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Il 32,640
= 6,528
Al 26,112
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Il 26,610
= 5,322
Al 21,288
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O=d2dH 28 € 82= A S 30,900
Jl 15,450
S 3,090
Al 12,360
O=doe AHe s 2258 7Y 1,000
) 500
S 100
Al 400
Olisns sHs=2Hia 3) 15,500
Il 7,750
< 1,550
Al 6,200
OsgaAE, AEH MHME & RAE S 3,000
) 1,500
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Al 1,200
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405 AHaHE = 2,100 2,780 A680
01 It =S F = 2,100 2,780 2680
OCIOt=ELOl Tl 2,100,000 *1CH 2,100
AB XA 4,752,765 5,453,132 AT700,367
= 129,492
Il 1,108,799
== 877,429
Al 2,637,045
=IIE S AL 572,400 640,000 A\67,600
7l 286,200
= 57,240
Al 228,960
101 21A4H| 26,576 28,909 N2,333
Il 13,288
= 2,658
Al 10,630
MU IIRINZZE2NSES 26,576 28,909 N2,333
OLHTAY 21A48I(198) 26,576
Jl 13,288
== 2,658
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307 el2to| & 545,824 611,091 A\B5,267
) 272,912
& 54,582
Al 218,330
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Oogad Zad 545,824
Jl 272,912
[ 54,582
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LEXC S| X (&HEALR) 300,000 600,000 A.300,000
= 180,000
Al 120,000
307 el2to| & 300,000 600,000 /300,000
= 180,000
Al 120,000
0122 E /=4 300,000 600,000 A.300,000
OE Rt 2= HIXIA 300,000
== 180,000
Al 120,000
Ot 2 el At (M EFAL) 13,227 13,904 ABTT
= 7,936
Al 5,291




2A:

X XH -
o=

Rl AL XIRAALE (SH9 H2)
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307 lztol & 13,227 13,904 ABTT
= 7,936
Al 5,291
01 2g & 3=H| 13,227 13,904 aNe1/4
Ot Slgss N 13,227
= 7,936
Al 5,291
s|IHEEA =8l XE 276,000 547,586 A271,586
Jl 138,000
= 27,600
Al 110,400
307 @20l & 276,000 547,586 A271,586
Il 138,000
= 27,600
Al 110,400
05 212t S 276,000 547,586 A271,586
Og|HEEXA 2=HIXE 276,000
) 138,000
& 27,600
Al 110,400
=22 sAEE us ¥ g8 25 70,000 100,000 /30,000
= 21,000
Al 49,000
307 @120l & 70,000 100,000 30,000
=S 21,000
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02 QB HANSEER 70,000 100,000 230,000
O22¢4 3728 us & g=1)(8 75 70,000
[ 21,000
Al 49,000
IZ20 =T A L HTALY 78,966 83,000 A4,034
Jl 63,173
< 7,8%
Al 7,897
307 elztol & 78,966 83,000 A4,034
Jl 63,173
=S 7,8%
Al 7,897
05 git?(& = 78,966 83,000 N4,034
O2d250=sa Xt ditAAAN X3 78,966
7l 63,173
= 7,8%
Al 7,897
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LB XA 1,760 1,760

201 er23 | 1,760 1,760
01 At2teltl 1,000 1,000

O Za EE2= M| 1,000

02 S3=gl 760 760 0
OAHBHN 82 2HFY 760

JIZZUALSXLEH 2 51,100 51,100 0
Jl 25,550
Al 25,550

307 212+01& 51,100 51,100 0
Jl 25,550
Al 25,550

05 21t = 51,100 51,100 0
OTAUAHLSIIHE 2S(1HA) 51,100
Jl 25,550
Al 25,550

SaALSAHE IHE X 817,520 673,920 143,600
Il 408,760
Al 408,760

307 @I2t01 & 817,520 673,920 143,600
7l 408,760
Al 408,760

05 2ItRIE = 817,520 673,920 143,600
OTAAHYSXME AHAXIH(23H) 817,520
Il 408,760
Al 408,760

SSINALSTAIL 238,000 373,300 /135,300
Jl 119,000
= 23,800
Al 95,200

307 elztol & 238,000 373,300 A135,300
Jl 119,000
[ 23,800
Al 95,200

05 2ItRIE = 238,000 373,300 /135,300
OSSIAALSTA 238,000
Jl 119,000
s 23,800
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Al 31,080
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7l 31,080
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05 2ItRIE = 62,160 61,080 1,080
OFUALS A 62,160
Jl 31,080
Al 31,080
Al e el X=X 207,560 202,530 5,030
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Al 145,292
307 @12t0| & 207,560 202,530 5,030
S 62,268
Al 145,292
05 2ItRIE = 207,560 202,530 5,030
OXtaie aelxls XI& 207,560
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Al 145,292
HAALSAHE AUSAIY SRS 74,072 54,166 19,906
) 37,036
Al 37,036
307 @20l & 74,072 54,166 19,906
Il 37,036
Al 37,036
05 2IR”IRIE = 74,072 54,166 19,906
OBUHLEXIHEH THAUIZAIS QISR 74,072
Jl 37,036
Al 37,036
SEITHEAIE 23 1,594,856 1,570,280 24,576
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Al 1,116,399
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Al 1,116,390
03 PIZHHEE 22X 1,594,856 1,570,280 24,576
OZAEAIE 23| 1,604,856
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Al 1,116,390
ATHEAIE 2HI(XHA) 78,500 92,100 213,600
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Al 26,208
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= 11,232
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307 elztol & 244,984 239,570 5,414
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O &ots =2 x=H XA 10,000
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== 36,500
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AL SAIG 2l (B A SSE2HAY) 29,000 39,900 10,900
Jl 14,500
=S 2,900
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Il 5,265
= 1,053
Al 4,212
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) 5,265
& 1,063
Al 4,212
202 04l 400 400 0
) 200
< 40
Al 160
01 SLHoIH 400 400 0
Ot gRFA 400
Jl 200
< 40
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301 EtE NS 8,070 9,130 21,060
Jl 4,035
== 807
Al 3,228
11 AALEEIXIE S 2,110 2,710 2600
Ot YAHLZIAY T2 29 2,10
Jl 1,065
=S 21
Al 844
14 JIEt2 = 5,960 6,420 2460
OB AHLBEAIY WE LAY 5,960
Jl 2,980
=S 5%
Al 2,384
307 212+01& 10,000 17,900 AT7,900
Jl 5,000
=S 1,000
Al 4,000
0122 € =4 10,000 17,900 AT7,900
O9arZ & A2F (& 2 128) 10,000
Jl 5,000
= 1,000
Al 4,000
SHYHA R R XA 71,000 72,000 1,000
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Al 80
01 2L AL 200 200 0
OF&EAH g 200
Il 100
== 20
Al 80
307 @20l & 6,940 9,506 N2,566
Il 3,470
= 694
Al 2,776
01 2g & 3=H| 6,940 9,506 N2,566
O2A2ARE FU(SAHILIF 21 29F) 6,940
) 3,470
S 694
Al 2,776
OEl0l SXICIL(XIOEH<RINAI 14,800 17,300 22,500
= 4,440
Al 10,360
307 @120l & 14,800 17,300 22,500
=S 4,440
Al 10,360
012z € 2/=H] 14,800 17,300 22,500
O2A2ARE FY(LHE 2 20F) 14,800
& 4,440
Al 10,360
THEHA HEH2Y 4,920 9.210 24,290
201 Ler23| 1,320 3,460 22,140
01 At2teltl 1,320 1,280 40
OFZ22HH =24 1,320
o EAA HAXIH 600
OXIUH AL EH wet
190,000 *22] 380
o=EAEHII EHLE 100,000& %12 100
oME Z2RAYS 60,0002 x4 240
307 gl2to| & 3,600 4,000 2400
012z & a=Hl 3,600 4,000 A400
O7YEA 018z 98 A28 P (X
B 2 5F) 3,600
IO (SLI) A 15,500 25,000 29,500
< 4,650
Al 10,850
307 glztol & 15,500 25,000 29,500
= 4,650
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